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	Paper number: 	P001446
Section B: 		Calculator Test


     
Time allowed: 		1 hour 30 minutes

Learner instructions
· Answer all questions.
· Read each question carefully. 
· Write your answers in the spaces provided. 
· Show your working, as marks may be awarded for working. 
· State units in your answers, where appropriate. 
· Check your work.
· Use  = 3.14

Learner information
· Section B contains Activities 2, 3 and 4.
· The maximum mark for this section is 45.
· The marks available for each question are shown in brackets.

Resources
You will need a:
· pen, with black or blue ink
· pencil and eraser
· 30 cm ruler
· protractor 
· calculator. 

If extra pages are used, please make sure your name and centre name
are on them and they are securely fastened to this booklet. 

	Please complete the details below clearly and in BLOCK CAPITALS.

	Learner name
	

	Centre name
	

	

	Learner number
	
	        Centre number
	













Do not turn over until the invigilator tells you to do so.
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Please turn over for the first activity.













  Activity 2:	Apprentice plumber	

	2 (a)
	
	Judy is an apprentice plumber.

She needs to work out the capacity of a water tank in gallons.

The water tank is a cylinder with radius 0.7 m and height 3 m

Judy uses this graph to convert between litres and gallons.


       					Conversion graph
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Litres












Gallons










	
	
	Work out the capacity of this water tank in gallons.

Give your answer to the nearest gallon.

You must show your working.

Use  = 3.14

Use 1 m3 = 1000 litres
 [5 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
				 gallons        




							

										     Please turn over 

	2 (b)
	
	On a scale drawing a water pipe is 27 cm long.

The drawing has scale 1 : 50

Calculate the actual length of the water pipe.

Give your answer in metres.
 [2 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
m



											

	2 (c)
	
	Judy has this plan view of a section of the water pipe system in a building.

[image: ]

















She knows that the sum of interior angles in a pentagon is 540°

Calculate the value of angle x
 [2 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	                                                      °



										




Please turn over 

	2 (d)
	
	Judy installs some water taps in the building.

She keeps a record of the flow rate for each tap she installs.

	Tap
	A
	B
	C
	D
	E
	F
	G
	H

	Flow rate (litres/minute)
	5.9
	5.5
	6.1
	6.5
	6.3
	6.0
	6.1
	5.8



Judy installs tap J.

She checks the flow rate of tap J by filling up an empty 1.6 litre jug with water in 15 seconds.

Judy thinks that tap J has a greater flow rate than the median flow rate of the other eight taps she installed.

Is she correct?

Show how you decide.
 [4 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
				





	2 (e)
	
	Judy reads an article about apprentices.

In 2019, there were 742 400 apprentices in England.
Of these, 51 000 apprentices were in the construction sector.






Judy thinks that in 2019, more than 6% of apprentices in England were in the construction sector.

Is she correct?

Show how you decide.
[2 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	




										     [Total marks: 15]








Please turn over 

  Activity 3:	New kitchen	

	3 (a)
	
	Abdul wants to buy a new kitchen.

He borrows £15 000 from a bank for 3 years at 9.4% annual compound interest.

Abdul thinks he needs to pay back a total of more than £19 700 at the end of the 3 years.

Is he correct?

Show how you decide.
 [2 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	















	3 (b)
	
	Abdul employs Fred to fit his new kitchen.

Fred uses this formula to work out what he will charge for this job.

C = 1.2 (17.5h + 40)

Where:  C = charge (£)
              h = total number of hours worked

Fred tells Abdul he will need 3 days to complete the work.

He will work 7.5 hours each day.

Work out what Fred will charge for the job.
[3 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	     £










Please turn over

	3 (c)
	
	Fred has this scale plan of a kitchen worktop:
26 mm

[image: ]


24 mm



30 mm
60 mm






Scale 1 : 25

90 mm




The worktop has one line of symmetry.

Fred will put tape along each edge of the worktop.

He can cut and join the tape.

A roll of tape is 5000 mm long and costs £4.38

Work out the total cost of the tape Fred needs.
[4 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	     £



	3 (d)
	
	The coordinate grid shows the floor plan of the kitchen.

[image: ]



 









A

x






Point A shows the position of the gas valve.

Write down the coordinates of point A. 
[1 mark]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
					








Please turn over

	3 (e)
	
	This prism represents a gas valve:

[image: ]











The end faces of the valve are hexagonal.

What is the shape of the side faces of the gas valve?
 [1 mark]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	









	3 (f)
	
	Abdul buys a new oven for the kitchen.

The normal price of the oven is £629 

Abdul gets 18% discount on the price of the oven.

Decrease 629 by 18%
 [2 marks]


	
	
	
	


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	

















Please turn over

	3 (g)
	
	Abdul hires a skip for rubbish.

The skip has a capacity of 4 m3

A wheelie bin has a capacity of 250 litres.

How many full wheelie bins will be needed to fill one skip?

Use 1 m3 = 1000 litres
 [2 marks]


	
	
	
	


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
wheelie bins


											

[Total marks: 15]


Activity 4:	Estate agents						 

	4 (a)
	
	Chris works for an estate agents.
He is a sales negotiator.
Chris has this data about the number of flats and houses sold by each sales negotiator last year:

Sales negotiator
Adam
Belle
Chris
Daika
Eva
Fiona
Gai
Harry
Flats sold

2
5
3
2
3
4
5
1
Houses sold
3
1
4
0
3
2
0
3







Work out the probability that a sales negotiator chosen at random sold more flats than houses last year.
Give your answer as a percentage.
 [2 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
%




											

											Please turn over

	4 (b)
	
	Chris advertises 12 flats for sale.

The table shows the floor area of flats 1 - 11


	Flat
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11

	Floor area
(sq ft)
	496
	687
	550
	496
	840
	687
	550
	496
	496
	840
	550


Chris has this floor plan of flat 12.


[image: ]24 ft



Not drawn accurately



22 ft
29 ft






23 ft










	
	
	By what percentage is the floor area of flat 12 greater than the median floor area of flats 1 - 11?

Give your answer to 1 decimal place.
[5 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
%








Please turn over 

	4 (c)
	
	The range of sale prices of flats in building A is £25 900
The mean sale price of flats in building A is £201 850
The table shows the sale prices of six similar flats in building B.

	£195 000
	£207 500
	£189 400
	£191 800
	£216 000
	£209 540



Calculate both the range and mean of the sale prices for flats in building B.
Use these values to make two comparisons between the sale prices in the two buildings.
 [3 marks]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	


















	4 (d)
	
	Chris knows that 9 out of every 20 residents in the local area rent their properties.


Write  as a percentage.
 [1 mark]


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	
%




	4 (e)
	
	To work out his commission, Chris does this calculation:



What answer should he get?
 [2 marks] 


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	






Please turn over 

	4 (f)
	
	Chris knows that this year the average house price in his area is £197 200

He expects this average price to increase by 2.1% next year.

Does Chris expect the average house price next year to be greater than 
£200 000?

Show how you decide.
 [2 marks] 


	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	
Your answer:
	




										     [Total marks: 15]




This is the end of the assessment.
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